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n= 04l o
v i)} 5t =2 N SollE & = 2}0H SgHlE erES
. ¢ = dus | BdEE | SE% T
olg= AJ 2,340,691 3,900,000 1,559,300
MY | &g a4l g OIS 0IAE 7,000 15,000 8,000 114.29
IIEFEA Y 1,435,678 100,000|  A1,335.678| A93.03
zael A 1,442,678 115,000]  a1,327,678
zael AT 1,442,678 115.000|  A1,327,678
TIPS 34,283,369 73,699,000 39,415,631
UER PYE=T o124t 20 13,200,000 39,788,000 26,588,000 201.42
EERE 1,100,000 2,880,000 1,780,000 161.82
NEEEEE= 1,280,000 3,600,000 2,320,000| 181.25
SRS 15,580,000| 46,268,000 30,688,000
S| o1t 600,000 700,000 100,000  16.67
B % == 9,450,000 8,500,000 A950,000| A10.05
zzea 1,400,000 4,300,000 2,900,000| 207.14
HAZD 2 1,000,000 2,000,000 1,000,000 100.00
xrH| 500,000 2,400,000 1,900,000 380.00
JIEFS | 0 2,087,000 2,087.000|  0.00
Sot| A 12,950,000 19,987,000 7,037,000
NETIPS! 28,530,000 66,255,000 37,725,000
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e 0fl At
e = &t 2 HMEc S E Z=2roH sSztls SHEUS
- - B - s== -cn (%)
HE |MaZsEl (ALY THaHE St 0 1,450,000 1,450,000| 0.0
NELIES 0 1,450,000 1,450,000
THAHZEAHI 2 0 1,450,000 1,450,000
=T =g L] 1,370,000 500,000 A870,000| A63.50
o1zt 960,000 1,000,000 40,000  4.17
oyl A 2,330,000 1,500,000 830,000
NET e e 500,000 4,464,000 3,964,000| 792.80
=TS 500,000 4,464,000 3,964,000
NETTIPS 2,830,000 5,964,000 3,134,000
AEEE T opurwr 2 dler [ogisl 0 20,000 20,000{ 0.0
ore 2 2,923,369 10,000|  42,913,369| A99.66
GBIl L OIE A7 2,923,369 30,000] 42,893,369
GBIl L JIEH A0 2,923,369 30,000] 42,893,369
EPS 34,283,369| 73,699,000 39,415,631
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